Pacific Journal of Mathematics

ON THE AVERAGE NUMBER OF REAL ZEROS OF A CLASS OF RANDOM ALGEBRAIC CURVES

MASILAMANI SAMBANDHAM

Vol. 81, No. 1 November 1979

ON THE AVERAGE NUMBER OF REAL ZEROS OF A CLASS OF RANDOM ALGEBRAIC CURVES

M. Sambandham

Let a_1, a_2, \cdots , be a sequence of dependent normal random variables with mean zero, variance one and the correlation between any two random variables is $\rho, 0 < \rho < 1$. In this paper the average number of real zeros of $\sum_{k=1}^{n} a_k k^p x^k$, $0 \le p < \infty$ is estimated for large n and this average is asymptotic to $(2\pi)^{-1}[1+(2p+1)^{1/2}\log n$.

1. Let a_1, a_2, \cdots be a sequence of dependent normal random variables with mean zero, variance one and joint density function.

(1.1)
$$|M|^{1/2}(2\pi)^{-n/2}\exp\left[-(1/2)\bar{a}'M\bar{a}\right]$$

where M^{-1} is the moment matrix with $\rho_{ij} = \rho$, $i \neq j$, $0 < \rho < 1$, $i, j = 1, 2, \dots, n$. We estimate in this paper the average number of real zeros of

$$(1.2) f(x) = \sum_{k=1}^n a_k k^p x^k , 0 \leq p < \infty$$

and we state our result in the following theorem.

THEOREM. The average number of real zeros of (1.2) in $-\infty \le x \le \infty$, when the random variables are dependent normal with joint density function (1.1) is $(2\pi)^{-1}[1+(2p+1)^{1/2}]\log n$, for larger n.

When p=0, that is, for the polynomial $\sum a_k x^k$, the average number of real zeros is estimated in Sambandham [5] and this average is $\pi^{-1}\log n$. Since the maxima or minima of $\sum a_k x^k$ is only half of the average number of real zeros of $\sum ka_k x^{k-1}$, by giving p=1 in the theorem we get the average number of maxima of $\sum a_k x^k$. This average has been already estimated in Sambandham and Bhatt [6] and its value is $(4\pi)^{-1}[1+3^{1/2}]\log n$.

When the random variables are independent and normally distributed Das [2] estimated the average number of real zeros of [1.2] and this average is $\pi^{-1}[1+(2p+1)^{1/2}]\log n$. Under the same condition the average number of maxima of $\sum a_k x^k$ is $(2\pi)^{-1}[1+3^{1/2}]\log n$ and the average number of real zeros of $\sum a_k x^k$ is $(2/\pi)\log n$. These two results are respectively in Das [1] and Kac [3].

We note that the average number of zeros and the average number of maxima in the case when the random variables are in dependent are twice that of the case when the random variables are dependent normal with a constant correlation.

This is because when the random variables are dependent with a constant correlation ρ , most of the random variables have a tendency to be of the same sign as they are interdependent. As the most of the random variables preserve the same sign $\sum a_k k^p x^k$ has a tendency of behaving like $\pm \sum |a_k| k^p x^k$. Under this condition when x > 0, the consecutive terms have a tendency to cancel each other and when x < 0 the cancellation does not become possible. This fact reduces the average number of real zeros for x > 0 to $o(\log n)$.

In view of the relation

$$f(x)=n^p x^{n+1} \sum_{k=0}^{n-1} lpha_{n-k} (1-kn^{-1})^p y^{k+1} \ \equiv n^p x^{n+1} P_n(y) \; , \qquad y=rac{1}{x}$$

the number of roots of in $(-\infty, -1) \cup (1, \infty)$ equals with probability one, the number of roots of the polynomial $P_n(y)$ in (-1, 1). Proceeding the method here we can easily show that the number of zeros of the polynomial $\sum_{k=0}^{n} a_k x^k$ in (-1, 1) remain true for $P_n(y)$ in (-1, 1). Hence we get from Sambandham [5]

$$(1.3) M_n(1, \infty) = o(\log n)$$

and

$$M_n(-\infty, 1) \sim (2\pi)^{-1} \log n.$$

Therefore our further discussion will be on the average number of real zeros of (1.2) in (-1, 1).

If we show that

$$(1.5) M_n(-1,0) \sim (2\pi)^{-1}(2p+1)^{1/2}\log n$$

 \mathbf{and}

$$(1.6) M_n(0, 1) = o(\log n)$$

in view of the relations (1.3) and (1.4) we get the proof of the theorem. To prove (1.5) and (1.6) we proceed as follows:

2. Let $M_n(a, b)$ denote the average number of real zeros of (1.2) in (a, b). Then following the method in Sambandham [5] we get

(2.1)
$$M_n(a, b) = \int_a^b [(A_p C_p - B_p^2)^{1/2} / A_p] dx$$

where

$$egin{aligned} A_p &\equiv A_p(x) = (1-
ho)\sum_{k=1}^n k^{2p}x^{2k} +
hoigg(\sum_{k=1}^n k^px^kigg)^2 \ B_p &\equiv B_p(x) = (1-
ho)\sum_{k=1}^n k^{2p+1}x^{2k-1} +
hoigg(\sum_{k=1}^n k^px^kigg)igg(\sum_{k=1}^n k^{p+1}x^{k-1}igg) \ C_p &\equiv C_p(x) = (1-
ho)\sum_{k=1}^n k^{2p+2}x^{2k-2} +
hoigg(\sum_{k=1}^n k^{p+1}x^{k-1}igg)^2 \end{aligned}$$

if $A_pC_p - B_p^2 > 0$ in (a, b) which is easily seen to hold as in Sambandham [5].

Since

(2.2)
$$\sum_{k=1}^{n} k^{p} x^{k} = \left\{ x \frac{d}{dx} \cdots \left[x \frac{d}{dx} \left(x \frac{d}{dx} \sum_{k=1}^{n} x^{k} \right) \right] \right\}$$
$$= \left\{ x \frac{d}{dx} \cdots \left[x \frac{d}{dx} \left(\frac{1 - x^{n+1}}{1 - x} \right) \right] \right\}$$

we can sum the values of A_p , B_p and C_p . This calculations show that for large n and $0 \le x \le 1 - (\log \log n/n)$

$$\frac{A_{_{1}}C_{_{1}}-B_{_{1}}^{_{2}}}{A_{_{0}}C_{_{0}}-B_{_{0}}^{^{2}}}\cdot\frac{A_{_{2}}C_{_{2}}-B_{_{2}}^{^{2}}}{A_{_{1}}C_{_{1}}-B_{_{1}}^{^{2}}}\cdot\cdot\cdot\frac{A_{_{p}}C_{_{p}}-B_{_{p}}^{^{2}}}{A_{_{p-1}}C_{_{p-1}}-B_{_{p-1}}^{^{2}}}<\frac{L_{_{1}}(x,\,p)}{(1-x)^{^{4p}}}$$

and

$$rac{A_1}{A_0} \cdot rac{A_2}{A_1} \cdot \cdot \cdot rac{A_p}{A_{p-1}} > rac{L_2(x, \, p)}{(1-x)^{2p}}$$

since each

$$rac{A_iC_i-B_i^2}{A_{i-1}C_{i-1}-B_{i-1}^2}<rac{L_3(x,\,p)}{(1-x)^4}$$

and

$$rac{A_i}{A_{i-1}} > rac{L_i(x, p)}{(1-x)^2}$$
 .

Here and in the following L(x, p) with subscripts are bounded positive values of x and all of them are greater than zero. Therefore we find

$$rac{(A_p C_p - B_p^2)^{1/2}}{A_p} < L_5(x, p) rac{(A_0 C_0 - B_0^2)^{1/2}}{A_0} < rac{L_6(x, p)}{(1-x)^{1/2}} \; .$$

Therefore (2.1) reduces to

(2.3)
$$M_n(0, 1 - \frac{\log \log n}{n}) = 0(1)$$
.

Since always

$$\frac{(A_p C_p - B_p^2)^{1/2}}{A_n} < n$$

(2.4)
$$M_n \left(1 - \frac{\log \log n}{n}, 1\right) = 0(\log \log n)$$

(2.3) and (2.4) proves (1.6). Now we proceed to prove (1.5).

When $-1 \le x \le 0$ we find that in A_p , B_p and C_p the first terms in the right hand side are dominant and in this case we get

$$rac{(A_{p}C_{p}-B_{p}^{2})^{1/2}}{A_{p}}<rac{(A_{0}C_{0}-B_{0}^{2})^{1/2}}{A_{0}}\;L_{7}\!(2,\,p)<rac{L_{8}\!(x,\,p)}{1-x^{2}}\;.$$

Therefore for $-1 + \eta \le x \le 0$, where $\eta = \exp[-(\log n)^{1/3}]$ we get

$$(2.5) M_n(-1 + \eta, 0) = 0(\log n)^{1/3}$$

For $-1 \le x \le -1 + \delta/n$, where $\delta = (\log n)^{1/2}$, we have

$$rac{(A_p C_p - B_p^2)^{1/2}}{A_p} < n$$

and therefore

$$(2.6) M_n\left(-1, -1 + \frac{\delta}{n}\right) = 0(\log n)^{1/2}.$$

For x in the interval $(-1 + \delta/n, 1 - \eta)$ we follow the method suggested by Logan and Shepp [4], which was used by Das [2] also.

3. We put

$$\mu_{\epsilon}(x) = 1 \quad \text{if} \quad -\varepsilon < x < \varepsilon$$

$$= 0 \quad \text{otherwise.}$$

From Kac [3] we get

(3.1)
$$M_{\pi}(a, b) = \lim_{\varepsilon \to 0} (2\varepsilon)^{-1} \int_{a}^{b} E\{\mu_{\varepsilon}(f(x)) | f'(x) | \} dx.$$

The combined variable (f(x), f'(x)) has characteristic function,

$$\varphi(z, w) = E\{\exp \left[i f(x)z + i f'(x)w\right]\}.$$

The probability density $p(\xi, \eta)$ for $f(x) = \xi$ and $f'(x) = \eta$ is given by

Therefore the chance that $u \le f(x) < u + du$ and $u \le f'(x) < v + dv$ hold together in p(u, v)du du. As the x's very both f and f' assume values from $-\infty$ to ∞ independently to one another so that

Let us write

$$F(u) = \int_{-\infty}^{\infty} |v| p(u, v) dv$$
.

Then F(u) is continuous and therefore we get

$$egin{aligned} &\lim_{arepsilon o 0} (2arepsilon)^{-1} E[\mu_{arepsilon}(f)|f'|] = \lim_{arepsilon o 0} (2arepsilon)^{-1} \!\!\int_{-arepsilon}^{arepsilon} F(u) du \ &= F(0) \;. \end{aligned}$$

Since a and b are finite and $(2\varepsilon)^{-1}\int_a^b \mu_{\varepsilon}(f)|f'|dx$ is bounded from (3.1) we get the Kac — Rice formula.

$$\begin{aligned} M_n(a, b) &= \lim_{\varepsilon \to 0} (2\varepsilon) \int_a^b E[\mu_{\varepsilon}(f) | f' |] dx \\ &= \int_a^b F(0) dx = \int_a^b dx \int_{-\infty}^{\infty} |\eta| \, p(0, \eta) d\eta \;. \end{aligned}$$

We put $f(x) = \sum_{k=1}^n a_k b_k$ and $f'(x) = \sum_{k=1}^n a_k c_k$ so that

$$egin{align} arphi(z,\,w) &= \exp\Bigl[\Bigl(-rac{1}{2}\Bigr)\Bigl\{(1-
ho)\sum_{k=1}^n(b_kz+c_kw)^2\ &+
ho\Bigl(\sum_{k=1}^n(b_kz+c_kw))^2\Bigr\}\Bigr] \end{split}$$

and

$$(3.3) p(0, y) = (2\pi)^{-2} \int_{-\infty}^{\infty} dw \int_{-\infty}^{\infty} \exp(-iyw) \varphi(z, w) dz.$$

Then for $\varepsilon > 0$ we have

$$\int_{-\infty}^{\infty} |\eta| \exp(-\varepsilon |\eta|) p(\mathbf{0}, \eta) d\eta$$

$$= \operatorname{Re} \pi^{-2} \int_{0}^{\infty} \frac{dw}{(\varepsilon + iw_{0})^{2}} \int_{-\infty}^{\infty} \varphi(z, w) dz$$

where Re stands for the real part. We need the following identity, valid for non zero P and Q,

$$(3.5) \qquad {
m Re}\,\pi^{-2}\!\!\int_0^\infty\!\! rac{dw}{(arepsilon+iw)^2}\!\!\int_{-\infty}^\infty\!\exp\!\left[\;-\left(rac{1}{2}
ight)\!(Pz+Qw)^2
ight]\!dz=\,0\,\,.$$

One way to see this is to allow b_k and c_k to be arbitrary in (3.4). If we take them each to be constant in k then the probability density $p(\xi, \eta)$ corresponding to $\xi = \sum a_k b_k = P\bar{x}$ and $\eta = \sum a_k c_k = Q\bar{y}$ degenerates and (3.5) follows. Further given P and Q, the constants \bar{x} and \bar{y} can be chosen such that \bar{x} and \bar{y} are normally distributed.

We choose P and Q such that

$$(3.6) \hspace{1cm} p^2 = (1-
ho)\sum_{k=1}^n b_k^2 +
ho\Big(\sum_{k=1}^n b_k\Big)^2 \ PQ = (1-
ho)\sum_{k=1}^n b_k c_k +
ho\Big(\sum_{k=1}^n b_k\Big)\Big(\sum_{k=1}^n c_k\Big) \,.$$

From (3.4) and (3.5) we get

$$egin{align} (3.7) & \int_{-\infty}^{\infty} \! |\eta| \, p(0,\,\eta) d\eta = \, \pi^{-z} \!\! \int_{_0}^{\infty} \! rac{dw}{w^z} \!\! \int_{-\infty}^{\infty} \exp{-\left(rac{1}{2}
ight)} \!\! (Pz + Qw)^z \ & - \exp\! \left\{ \, - \left(rac{1}{2}
ight) \!\! \left[(1-
ho) \sum b_k z + c_k w
ight)^z
ight. \ & +
ho\! \left(\, \sum \left(b_k z + c_k w
ight)^z
ight] \!\! \left.
ight\} \!\! \left.
ight] \!\! dz \; . \end{split}$$

We put z = w'u, w = -xw' and use Frullani's theorem to integrate on w'. The right hand side of (3.7) reduces to

$$(3.8) g_n(x) = \frac{1}{2\pi^2 x} \int_{-\infty}^{\infty} \log h_n(x, u) dx$$

where

 $h_n(x,\,u) = rac{\{[(1ho)+
ho\lambda_1]u^2-2[(1ho)\lambda_2+
ho\lambda_3]u+[(1ho)\lambda_4+
ho\lambda_5]\}}{[(1ho)+
ho\lambda_1]igg\lceil\mu-rac{(1ho)\lambda_2ho\lambda_3}{(1ho)+
ho\lambda_3}igg
ceil}$

where

$$egin{aligned} \lambda_1 &\equiv \lambda_1(x) = igg(\sum_{k=1}^n k^p x^kigg)^2 igg(\sum_{k=1}^n k^{2p} x^{2k}igg)^{-1} \ , \ \lambda_2 &\equiv \lambda_2(x) = igg(\sum_{k=1}^n k^{2p+1} x^{2k}igg) igg(\sum_{k=1}^n k^{2p} x^{2k}igg)^{-1} \ \lambda_3 &\equiv \lambda_3(x) = igg(\sum_{k=1}^n k^p x^kigg) igg(\sum_{k=1}^n k^{p+1} x^kigg) igg(\sum_{k=1}^n k^{2p} x^{2k}igg)^{-1} \ , \ \lambda_4 &\equiv \lambda_4(x) = igg(\sum_{k=1}^n k^{2p+2} x^{2k}igg) igg(\sum_{k=1}^n k^{2p} x^{2k}igg)^{-1} \ \lambda_5 &\equiv \lambda_5(x) = igg(\sum_{k=1}^n k^{p+1} x^kigg)^2 igg(\sum_{k=1}^n k^{2p} x^{2k}igg)^{-1} \ . \end{aligned}$$

We put $a=-1+\delta/n$, $b=-1+\eta$, $x=-\exp{(-t/2n)}$, u=nv/t. Therefore

$$M_n\Big(-1+\frac{\delta}{n},-1+\eta\Big)=\int_{-1+\delta/n}^{-1+\eta}g_n(x)dx$$

$$=(4\pi^2)^{-1}\int_{T_0}^{n\delta_0}\frac{dt}{t}\int_{-\infty}^{\infty}\log\,W_n(t,\,v)dv$$
(3.9)

where

$$T_{_0} = -2n\log\left(1-rac{\delta}{n}
ight), \ \delta_{_0} = -2\log\left(1-\eta
ight), \ W_{_n}(t,x) = rac{U_n(t,v)}{V_n(t,v)}, \ U_n(t,v) = \left[(1-
ho) +
ho\lambda_{_{11}}
ight]v^2 - 2[(1-
ho)\lambda_{_{21}} +
ho\lambda_{_{31}}]v \ + \left[(1-
ho)\lambda_{_{41}} +
ho\lambda_{_{51}}
ight], \ V_n(t,v) = \left[(1-
ho) +
ho\lambda_{_{11}}
ight]\left[u - rac{(1-
ho)\lambda_{_{21}} +
ho\lambda_{_{31}}}{(1-
ho) +
ho\lambda_{_{11}}}
ight]^2, \ \lambda_{_{11}} \equiv \lambda_{_{11}}(t) = rac{\left[\sum\limits_{1}^{n}\left(-1
ight)^k k^p \exp\left(-rac{kt}{n}
ight)
ight]}{\left[\sum\limits_{1}^{n}k^{2p} \exp\left(-rac{kt}{n}
ight)
ight]}, \ \lambda_{_{21}} \equiv \lambda_{_{21}}(t) = rac{t}{n} rac{\left[\sum\limits_{1}^{n}k^{2p+1} \exp\left(-rac{kt}{n}
ight)
ight]}{\left[\sum\limits_{1}^{n}k^{2p} \exp\left(-rac{kt}{n}
ight)
ight]},$$

$$egin{aligned} \lambda_{31} &\equiv \lambda_{31}(t) \ &= rac{t}{n} rac{\left[\sum\limits_{1}^{n}{(-1)^k k^p \exp\left(-rac{kt}{2n}
ight)}
ight]\!\!\left[\sum\limits_{1}^{n}{(-1)^k k^{p+1} \exp\left(-rac{kt}{2n}
ight)}
ight]}{\left[\sum\limits_{1}^{n}{k^{2p} \exp\left(-rac{kt}{n}
ight)}
ight]}, \end{aligned}$$

$$\lambda_{41} \equiv \lambda_{41}(t) = rac{t^2}{n^2} rac{\left[\sum\limits_1^n k^{2p+2} \exp\left(-rac{kt}{n}
ight)
ight]}{\left[\sum\limits_1^n k^{2p} \, \exp\left(-rac{k\,t}{n}
ight)
ight]} \; ,$$

and

$$\lambda_{\scriptscriptstyle 51} \equiv \lambda_{\scriptscriptstyle 51}(t) = rac{t^2}{n^2} rac{\left[\; \sum\limits_1^n \; (-1)^k k^{\scriptscriptstyle p+1} \exp\left(-rac{kt}{2n}
ight)
ight]^2}{\left[\; \sum\limits_1^n \; k^{\scriptscriptstyle 2p} \; \exp\left(-rac{k\,t}{n}
ight)
ight]} \; .$$

From Das [2] we get

$$\lambda_{\scriptscriptstyle 21} = (2p+1) + 0(te^{-t/2})$$
 , $\lambda_{\scriptscriptstyle 41} = (2p+1)(2p+2) + 0(te^{-t/2})$,

and using the idea in (2.2) we get

$$egin{align} \lambda_{11} &= 0 \Big(rac{t}{n}\Big)^{2p+1} \; , \ \ \lambda_{31} &= 0 \Big(rac{t}{n}\Big)^{2p+2} \; , \ \ \ \lambda_{51} &= 0 \Big(rac{t}{n}\Big)^{2p+3} \; . \ \end{align}$$

Now

$$\begin{split} \int_{\|v\|>L} \log \, W_{\scriptscriptstyle n}(v,\,t) dv &= L \log \frac{(L^2-2\lambda L + \mu)(L^2+2\lambda L + \mu)}{(L^2-2\lambda L + \lambda^2)(L^2+2\lambda L + \lambda^2)} \\ &+ \lambda \log \frac{(L^2-2\lambda L + \mu)(L^2+2\lambda L + \mu)}{(L^2-2\lambda L + \lambda^2)(L^2+2\lambda L + \lambda^2)} \\ &+ 4(\mu-\lambda^2) \! \int_{\scriptscriptstyle L}^{\infty} \! \frac{(v^2-\mu) dv}{(v^2+\mu)^2-4\lambda^2 v^2} \end{split}$$

where

$$\lambda \equiv \lambda(t) = rac{(1-
ho)\lambda_{21} +
ho\lambda_{31}}{(1-
ho) +
ho\lambda_{11}}$$

and

$$\mu \equiv \mu(t) = rac{(1-
ho)\lambda_{\scriptscriptstyle 41} +
ho\lambda_{\scriptscriptstyle 51}}{(1-
ho) +
ho\lambda_{\scriptscriptstyle 11}} \; .$$

For $(1/2)(\log n)^{1/2} \le t \le n\delta$ and when n is large, we find that λ_{31} , λ_{11} and λ_{51} are tending to zero, λ_{21} and λ_{41} are respectively asymptotic to (2p+1) and (2p+1)(2p+2) and

$$(3.10) \qquad \pi^{-2} \int_{r_0}^{n\delta_0} \!\! \frac{dt}{t} \! \int_{-L}^L \log \frac{v^2 - 2\lambda v + \mu}{v^2 - 2\lambda v + \lambda^2} dv = o\left(\frac{1}{2}\log n\right).$$

Further we note that

$$\int_0^L rac{v^2-2rv+s}{v^2-2r'v+s'}dv = 0(s-s')+0(r^2-r'^2)$$

for large L. This makes

$$egin{align*} (4\pi^2)^{-1}\!\!\int_{T_0}^{n\delta_0}\!\! rac{dt}{t}\!\!\int_{-L}^{L}\lograc{v^2-2\lambda v+\mu}{v^2-2\lambda v+\mu^2}\!dv \ &=(4\pi^2)^{-1}\!\!\int_{T}^{n\delta_0}\!\! rac{dt}{t}\!\!\int_{-L}^{L}\lograc{v^2-2(2p+1)v+(2p+1)(2p+2)}{v^2-2(2p+1)v+(2p+1)^2}\!dv \ &+\eta \; . \end{split}$$

Where $|\eta| < \epsilon \log n$ and ϵ is infinitely small. Taking L large we obtain from (3.9), (3.10) and (3.11)

$$M_n\Big(-1+rac{\delta}{n},\ -1+n\Big)=(2\pi)^{-1}(2p+1)^{1/2}\log n+o(\log n)$$
 .

Hence we have proved (1.5) combining this with the discussion in §§ 1 and 2 we get the proof of the theorem.

REFERENCES

- 1. M. Das, The average number of maxima of a random algebraic curve, Proc. Camb. Phil. Soc., 65 (1969), 741-53.
- 2. ———, Real zeros of a class of random algebraic polynomials, J. Indian Math. Soc., **36** (1972), 53-63.
- 3. M. Kac, On the average number of real roots of a random algebraic equation, Bull. Amer. Math. Soc. **49** (1943) 314-20.
- 4. B. F. Logan and L. A. Shepp, Real zeros of random polynomials II, Proc. Lond. Math. Soc., 18 (1968), 308-14.
- 5. M. Sambandham, On the real roots of the random algebraic equation. To appear in Indian J. Pure. Appl. Math.
- 6. M. Sambandhan and S. S. Bhatt. On the average number of maxima of a random algebraic curve, Submitted for publication.

Received April 20, 1977

A. C. College of Engineering and Technology Karaikudi-623 004, India

PACIFIC JOURNAL OF MATHEMATICS

EDITORS

DONALD BABBITT (Managing Editor)

University of California Los Angeles, California 90024

Hugo Rossi

University of Utah Salt Lake City, UT 84112

C. C. MOORE

University of California Berkeley, CA 94720 J. DUGUNDJI

Department of Mathematics University of Southern California Los Angeles, California 90007

R. FINN AND J. MILGRAM Stanford University

Stanford University
Stanford, California 94305

ASSOCIATE EDITORS

E. F. BECKENBACH

B. H. NEUMANN

F. Wolf

K. Yoshida

SUPPORTING INSTITUTIONS

UNIVERSITY OF BRITISH COLUMBIA
CALIFORNIA INSTITUTE OF TECHNOLOGY
UNIVERSITY OF CALIFORNIA
MONTANA STATE UNIVERSITY
UNIVERSITY OF NEVADA, RENO
NEW MEXICO STATE UNIVERSITY
OREGON STATE UNIVERSITY
UNIVERSITY OF OREGON

UNIVERSITY OF SOUTHERN CALIFORNIA STANFORD UNIVERSITY UNIVERSITY OF HAWAII UNIVERSITY OF TOKYO UNIVERSITY OF UTAH WASHINGTON STATE UNIVERSITY UNIVERSITY OF WASHINGTON

Printed in Japan by International Academic Printing Co., Ltd., Tokyo, Japan

Pacific Journal of Mathematics

Vol. 81, No. 1 November, 1979

Thomas E. Armstrong, Simplicial subdivision of infinite-dimensional compact cubes	1			
Herbert Stanley Bear, Jr., Approximate identities and pointwise	-			
convergence	17			
Richard David Bourgin, Partial orderings for integral representations on				
convex sets with the Radon-Nikodým property	29			
Alan Day, Herbert S. Gaskill and Werner Poguntke, <i>Distributive lattices</i>				
with finite projective covers	45			
Heneri Amos Murima Dzinotyiweyi and Gerard L. G. Sleijpen, <i>A note on</i>				
measures on foundation semigroups with weakly compact orbits	61			
Ronald James Evans, Resolution of sign ambiguities in Jacobi and				
Jacobsthal sums	71			
John Albert Fridy, Tauberian theorems via block dominated matrices	81			
Matthew Gould and Helen H. James, <i>Automorphism groups retracting onto</i>				
symmetric groups	93			
Kurt Kreith, Nonlinear differential equations with monotone solutions				
Brian William McEnnis, Shifts on indefinite inner product spaces	113			
Joseph B. Miles, On entire functions of infinite order with radially				
distributed zeros	131			
Janet E. Mills, The idempotents of a class of 0-simple inverse				
semigroups	159			
Edward Jean Moulis, Jr., Generalizations of the Robertson functions	167			
Richard A. Moynihan and Berthold Schweizer, <i>Betweenness relations in</i>				
probabilistic metric spaces	175			
Stanley Ocken, Perturbing embeddings in codimension two	197			
Masilamani Sambandham, On the average number of real zeros of a class of				
random algebraic curves	207			
Jerry Searcy and B. Andreas Troesch, A cyclic inequality and a related				
eigenvalue problem	217			
Roger R. Smith and Joseph Dinneen Ward, M -ideals in $B(l_p)$	227			
Michel Talagrand, Deux généralisations d'un théorème de I. Namioka	239			
Jürgen Voigt, On Y-closed subspaces of X, for Banach spaces $X \subset Y$;				
existence of alternating elements in subspaces of $C(J)$	253			
Sidney Martin Webster, On mapping an n -ball into an $(n-1)$ -ball in				
complex spaces	267			
David I Winter Triangulable subalgebras of Lie n-algebras	273			